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Question Id : 92090626220 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage and answer the following Questions :-(Q01 _ 05)

Wings of Fire 15 an autobiography of Dr. APJ Abdul Kalam and covers his early life
and work in Indian space research and missile programmes. It is a simple tale of a boy
from a humble background who went on to occupy the highest seat, that of the
president of the country.

Dr. Kalam has been a key player in Indian space research / Indian missile
programmes. The book gained immense popularity in India and has been translated
into multiple languages. It is an engaging reading to say the least. However, it tends
to drag towards the end. The techmical details given therein are lost on the common
readers since they are specific to space research and missile projects.

In my opinion, the initial chapters of Wings of Fire are lovable as they describe the
quest of this young boy on the road to realizing his dreams. Another important factor
15 Dr. Kalam’'s positive thinking and outlook that resonates throughout the book.
Despite holding many high ranking poesitions in various organizations, Dr. Kalam’s
humility shines throughout like a beacon. The secret to his success 15 indeed his
ability to ignore negative things around him.

Sub questions

Question Number : 1 Question Id : 92090626221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the opposite of success:

(1) failure

(2) wvictory

(3) happiness
(4) popular

Options :

920906103601. 1
920906103602. 2
920906103603. 3
920906103604. 4

Question Number : 2 Question Id : 92090626222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The book ‘Wings of Fire’ covers:
(1) Dr. APJ Abdul Kalam’s music research

(2) Dr. APJ Abdul Kalam’s science research
(3) Dr. APJ Abdul Kalam's space research
(4) Dr. APJ Abdul Kalam's missile research

Options :

920906103605. 1
920906103606. 2
920906103607 3
920906103608. 4

Question Number : 3 Question Id : 92090626223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What do you understand about Dr. Kalam's thinking? Is it

(1) negative
(2) positive
(3) energetic
(1) boredom

Options :

920906103609. 1
920906103610. 2
920906103611. 3
920906103612. 4

Question Number : 4 Question Id : 92090626224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The secret to his success is

(1) his ability to ignore negative things.
(2) tofocus on negative things.
(3) to realize the negative things.

(1) to accept the negative things.



Options :

920906103613. 1
920906103614. 2
920906103615. 3
920906103616. 4

Question Number : 5 Question Id : 92090626225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of ‘tale’ is

(1) a story
(2) an essay
(3) a film

{4) a review

Options :

920906103617. 1
920906103618. 2
920906103619. 3
920906103620. 4

Question Id : 92090626220 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage and answer the following Questions :-(Q01 _ 05)

Wings of Fire 1s an autobiography of Dr. APJ Abdul Kalam and covers his early life
and work in Indian space research and missile programmes. It is a simple tale of a boy
from a humble background who went on to occupy the highest seat, that of the
president of the country.

Dr. Kalam has been a key player in Indian space research / Indian missile
programmes. The book gained immense popularity in India and has been translated
into multiple languages. It is an engaging reading to say the least. However, it tends
to drag towards the end. The technical details given therein are lost on the common
readers since they are specific to space research and missile projects.

In my opinion, the initial chapters of Wings of Fire are lovable as they describe the
quest of this young boy on the road to realizing his dreams. Another important factor
15 Dr. Kalam's positive thinking and outlook that resonates throughout the book.
Despite holding many high ranking positions in various organizations, Dr. Kalam’s
humility shines throughout like a beacon. The secret to his success is indeed his
ability to ignore negative things around him.

Sub questions

Question Number : 1 Question Id : 92090626221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the opposite of success:

(1) failure

(2) wictory

(3) happiness
(4) popular

Options :

920906103601. 1
920906103602. 2
920906103603. 3
920906103604. 4

Question Number : 2 Question Id : 92090626222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The book ‘Wings of Fire' covers:
(1) Dr. APJ Abdul Kalam’s music research

(2) Dr. APJ Abdul Kalam’s science research
(3) Dr. APJ Abdul Kalam’'s space research
(1) Dr. APJ Abdul Kalam's missile research

Options :

920906103605. 1
920906103606. 2
920906103607. 3
920906103608. 4

Question Number : 3 Question Id : 92090626223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What do you understand about Dr. Kalam's thinking? Is it

(1) negative
(2) positive
(3) energetic
(4) boredom

Options :

920906103609. 1
920906103610. 2
920906103611. 3
920906103612. 4

Question Number : 4 Question Id : 92090626224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The secret to his sueccess 1s

(1) his ability to ignore negative things.
(2) to focus on negative things.
(3) torealize the negative things.

(4) to accept the negative things.

Options :
920906103613. 1



920906103614. 2
920906103615. 3
920906103616. 4

Question Number : 5 Question Id : 92090626225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of ‘tale’ is

(1) a story
(2) an essay
(3 afilm

(4) a review

Options :

920906103617. 1
920906103618. 2
920906103619. 3
920906103620. 4

Sub-Section Number : 2
Sub-Section Id : 920906845
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090626226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct form of verb to fill in the blank.
This work up by you now.

(1) can taken

(2) can’t taken

(3) could be taking
(4) can’t be taking

Options :

920906103621. 1
920906103622. 2
920906103623. 3
920906103624. 4



Question Number : 6 Question Id : 92090626226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct form of verb to fill in the blank.

This work up by you now.
(1) ecan taken
(2) can’t taken
(3) could be taking
(4) can’t be taking
Options :

920906103621. 1
920906103622. 2
920906103623. 3
920906103624. 4

Question Number : 7 Question Id : 92090626227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the four options given, choose the correct sequence given below, to make a
meaningful sentence:

A.
B.
C
D.

the tangled oak treetops that you can barely see the sky
moss and licher drip so thickly from
in the southwest of England

in Wistman's Wood in Dastmoor National Park

Choose the correct answer from the options given below :

(1) ABCD

(2) D,CBA

(3) B,D.AC

4 CADB
Options :

920906103625. 1
920906103626. 2
920906103627. 3
920906103628. 4



Question Number : 7 Question Id : 92090626227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the four options given, choose the correct sequence given below, to make a
meaningful sentence:

A. the tangled oak treetops that you can barely see the sky
B. moss and licher drip so thickly from
£ in the southwest of England

D. in Wistman's Wood in Dastmoor National Park

Choose the correct answer from the options given below :

(1f KB GCDH

(2) D,CBA

(3) B,D,AC

4 C,ADB
Options :

920906103625. 1
920906103626. 2
920906103627. 3
920906103628. 4

Question Number : 8 Question Id : 92090626228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the meaning of the underlined idiom from the options given.
At school, Neha is always in high spirit.
(1) laughing

(2) uncontrollable
(3) talkactive
(4) cheerful

Options :

920906103629. 1
920906103630. 2
920906103631. 3
920906103632. 4



Question Number : 8 Question Id : 92090626228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the meaning of the underlined idiom from the options given.
At school, Neha is always in high spirit.
(1) laughing

(2) uncontrollable
(3) talkactive
(4) cheerful

Options :

920906103629. 1
920906103630. 2
920906103631. 3
920906103632. 4

Question Number : 9 Question Id : 92090626229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one — word substitute for ‘the art of beautiful
handwriting"?

(1) epigraphy
(2) castography
(3) topography
(4) calligraphy

Options :

920906103633. 1
920906103634. 2
920906103635. 3
920906103636. 4

Question Number : 9 Question Id : 92090626229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one — word substitute for ‘the art of beautiful
handwriting"?

(1) emgraphy

(2) castography

(3) topography

(4) calligraphy

Options :

920906103633. 1
920906103634. 2
920906103635. 3
920906103636. 4

Question Number : 10 Question Id : 92090626230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonyms for ‘obstreperous™

(1) objectionable
(2) syecophantic
(3) disruptive

(1) obsequions

Options :

920906103637. 1
920906103638. 2
920906103639. 3
920906103640. 4

Question Number : 10 Question Id : 92090626230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonyms for ‘obstreperous™
(1) objectionable

(2) sycophantic

(3) disruptive

(1) obsequions

Options :



920906103637. 1
920906103638. 2
920906103639. 3
920906103640. 4

Question Number : 11 Question Id : 92090626231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 5tan # =12, then find the value of cos#—sin#:

Gy
@ =
3) —1%
@ =

Options :

920906103641. 1
920906103642. 2
920906103643. 3
920906103644. 4

Question Number : 11 Question Id : 92090626231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 5tan # =12, then find the value of cos@—-sin#:

iy
) ﬁ
3) —1%
@ =

Options :

920906103641. 1
920906103642. 2



920906103643. 3
920906103644. 4

Question Number : 12 Question Id : 92090626232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an office 60% of the staffs are male. In an election in the office, 40% of the females
and 60% of the males voted for Anju. The percentage of votes Anju got was:

(1) 42%
(2) 50%
(3) 52%
(1) 54%
Options :

920906103645. 1
920906103646. 2
920906103647. 3
920906103648. 4

Question Number : 12 Question Id : 92090626232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an office 60% of the staffs are male. In an election in the office, 40% of the females
and 60% of the males voted for Anju. The percentage of votes Anju got was:

(1) 42%
(2) 50%
(3) 52%
(1) 54%
Options :

920906103645. 1
920906103646. 2
920906103647. 3
920906103648. 4

Question Number : 13 Question Id : 92090626233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A is twice as good a workman as B. Together they finish a piece of work in 24 days.
In how many days B alone can finish the work?

(1) 36
(2) 54
(3) 72
(1) 90
Options :

920906103649. 1
920906103650. 2
920906103651. 3
920906103652. 4

Question Number : 13 Question Id : 92090626233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A is twice as good a workman as B. Together they finish a piece of work in 24 days.
In how many days B alone can finish the work?

(1) 36
(2) 54
(3) 72
(4) 90
Options :

920906103649. 1
920906103650. 2
920906103651. 3
920906103652. 4

Question Number : 14 Question Id : 92090626234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The incomes of A and B are in the ratio 2:3 and their expenditures are in the ratio
4:5. If their savings are T 9,000 and T 17,500 respectively, then find the income of A.
(1) 12,500

(2) ¥ 25,000

(3) ¥ 37,500

(4) % 50,000



Options :

920906103653. 1
920906103654. 2
920906103655. 3
920906103656. 4

Question Number : 14 Question Id : 92090626234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The incomes of A and B are in the ratio 2:3 and their expenditures are in the ratio
4:5. If their savings are T 9,000 and T 17,500 respectively, then find the income of A.

(1) 12,500
(2) 2 25,000
(3) 37,500
(4) % 50,000

Options :

920906103653. 1
920906103654. 2
920906103655. 3
920906103656. 4

Question Number : 15 Question Id : 92090626235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nitin sells two articles for T 4,000 each with no profit, no loss in the whole
transaction. If one was sold at a gain 25%, then the other 15 sold at a loss of:

(1) 200

Options :

920906103657.
920906103658.
920906103659.
920906103660.

AW N =



Question Number : 15 Question Id : 92090626235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nitin sells two articles for ¥ 4,000 each with no profit, no loss in the whole
transaction. If one was sold at a gain 25%, then the other is sold at a loss of:

1) 20%
gL
@ 185%

2
3) 16-%

3
4) 15 i %o

Options :

920906103657. 1
920906103658. 2
920906103659. 3
920906103660. 4

Question Number : 16 Question Id : 92090626236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain language, CHIRCAR is coded as 3214384 and CROADS is coded as
345867, how is the word HARIROADS coded in that language?

(1) 812448567
(2) 281448576
(3) 284145867
(1) 285154876

Options :

920906103661. 1
920906103662 2
920906103663. 3
920906103664. 4

Question Number : 16 Question Id : 92090626236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain language, CHIRCAR is coded as 3214384 and CROADS is coded as
345867, how 1s the word HARIROADS coded in that language?

(1) 812448567

(2) 281448576

(3) 284145867

(4) 285154876

Options :

920906103661. 1
920906103662. 2
920906103663. 3
920906103664. 4

Question Number : 17 Question Id : 92090626237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the angle between the hands of a clock when the time is 30 min past 3.

(1) 650
(2) 750
(3) 850
(4) 1050

Options :

920906103665. 1
920906103666. 2
920906103667. 3
920906103668. 4

Question Number : 17 Question Id : 92090626237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the angle between the hands of a clock when the time is 30 min past 3.

(1) 65
(2) 750
(3) 850
(4) 1050

Options :



920906103665. 1
920906103666. 2
920906103667. 3
920906103668. 4

Question Number : 18 Question Id : 92090626238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct water — image of the given combination:

“VAYUB8436”

() AVANB4EQ
(2) AVANBY39
3 AVANBT3Q
(4) AVANGTER

Options :

920906103669. 1
920906103670. 2
920906103671. 3
920906103672. 4

Question Number : 18 Question Id : 92090626238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct water — image of the given combination:

“VAYUB8436”

() AVANB4EQ
(2 AVANB¥39
3 AVANBT3Q
4 AVANBTEQ

Options :

920906103669. 1
920906103670. 2
920906103671. 3
920906103672. 4



Question Number : 19 Question Id : 92090626239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct mirror image of the figure (X):

m,

m;

Figure (X)

@ | 3

® |

@ |3
Options :

920906103673. 1
920906103674. 2
920906103675. 3
920906103676. 4

Question Number : 19 Question Id : 92090626239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct mirror image of the figure (X):

m,

m;

Figure (X)

(1)

@ | O

® |

@ |
Options :

920906103673. 1
920906103674. 2
920906103675. 3
920906103676. 4

Question Number : 20 Question Id : 92090626240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One 1s labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Hot air balloon rises up in sky, because hot air is less dense
then cold air.

Reasons (R): Volume of a gas incresess on heating.

In the light of the above statements, choose the most appropriate answer from the
options given below:

(1)  Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A).
(3)  (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

Options :

920906103677. 1
920906103678. 2
920906103679. 3
920906103680. 4

Question Number : 20 Question Id : 92090626240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Hot air balloon rises up in sky, because hot air is less dense
then cold air.

Reasons (R): Volume of a gas incresess on heating.

In the light of the above statements, choose the most appropriate answer from the
options given below:

(1)  Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) 1s correct but (R) is not correct.

(4)  (A)is not correct but (R) is correct.

Options :

920906103677. 1
920906103678. 2
920906103679. 3



920906103680. 4

Question Number : 21 Question Id : 92090626241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Golden Quadrilateral projects for the development of National Highways was
initiated by

(1) P.V.Narasimha Rao

(2) LK. Gural
(3) Manmohan Singh
(4) Atal Bihari Vajpayvee

Options :

920906103681. 1
920906103682. 2
920906103683. 3
920906103684. 4

Question Number : 21 Question Id : 92090626241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Golden Quadrilateral projects for the development of National Highways was
initiated by

(1) P.V. Narasimha Rao

(2) LK. Gujral
(3) Manmohan Singh
(1) Atal Bihari Vajpavee

Options :

920906103681. 1
920906103682. 2
920906103683. 3
920906103684. 4

Question Number : 22 Question Id : 92090626242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements -

Statement [ : Alauddin Khilji adopted the policy of blood and iron in
tackling the mongols.

Statement I[I : Amir Khusrau and Mir Hassan Dehlvi were the poets of
Alauddin Khilji court.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true.

(2) Both Statement I and Statement II are false.

(3) Statement [ is true but Statement Il is false.

(1)  Statement I is false but Statement II is true.

Options :

920906103685. 1
920906103686. 2
920906103687. 3
920906103688. 4

Question Number : 22 Question Id : 92090626242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement [ : Alauddin Khilji adopted the policy of blood and iron in
tackling the mongols.

Statement [1 : Amir Khusrau and Mir Hassan Dehlvi were the poets of
Alauddin Khilj court.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true.

(2)  Both Statement [ and Statement II are false.

(3) Statement I is true but Statement Il is false.

(1)  Statement I is false but Statement I is true.

Options :

920906103685. 1
920906103686. 2
920906103687. 3



920906103688. 4

Question Number : 23 Question Id : 92090626243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following pairs is NOT properly matched?

(1) Relianece — Mukesh Ambani
(2) Wipro — R. Krishna Murthy
(3) Airtel — Bharti Mittal

(4) Nano car — Ratan Tata

Options :

920906103689. 1
920906103690. 2
920906103691. 3
920906103692. 4

Question Number : 23 Question Id : 92090626243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following pairs is NOT properly matched?

(1) Reliance — Mukesh Ambani
(2) Wipro - R. Krishna Murthy
(3) Airtel — Bharti Mittal

(4) Nano car — Ratan Tata

Options :

920906103689. 1
920906103690. 2
920906103691. 3
920906103692. 4

Question Number : 24 Question Id : 92090626244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I -

(A)
(B)
(€)
(D)

List I (Books)
Unhappy India
India Divided

The Discoveryof India
Ghulam Giri

List IT (Author)
(I) Jawaharlal Nehru
(II) Lala Lajpat Rai
(I1I) Jyotiba Phule
(IV) Rajendra Prasad

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

A-(ID), B-(IV), C-(D), D-(I1D)
A-(IT), B-(IV), C-(I11), D-(I)
A-(IV), B-(IT), C-(I), D-(IIT)
A-(ID), B-(IV), C-(I), D-(ID)

Options :

920906103693. 1
920906103694. 2
920906103695. 3
920906103696. 4

Question Number : 24 Question Id : 92090626244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I -

(A)
(B)
(€)
(D)

List I (Books)
Unhappy India
India Divided

The Discoveryof India
Ghulam Giri

List IT (Author)
(I) Jawaharlal Nehru
(II) Lala Lajpat Rai
(I1I) Jyotiba Phule
(IV) Rajendra Prasad

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

A-(ID), B-(IV), C-(D), D-(I1D)
A-(IT), B-(IV), C-(I11), D-(I)
A-(IV), B-(IT), C-(I), D-(IIT)
A-(ID), B-(IV), C-(I), D-(ID)

Options :
920906103693. 1
920906103694. 2



920906103695. 3
920906103696. 4

Question Number : 25 Question Id : 92090626245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Instrument used to study the behavior of a vibrating string is
(1)
(2) Sonometer
3)
1)

Hygrometer

Barometer

—

Hydrometer

(

Options :

920906103697. 1
920906103698. 2
920906103699. 3
920906103700. 4

Question Number : 25 Question Id : 92090626245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Instrument used to study the behavior of a vibrating string is

(1) Hygrometer

(2) Sonometer

(3) Barometer

(1) Hydrometer
Options :

920906103697. 1
920906103698. 2
920906103699. 3
920906103700. 4

Part B: Public Health

Section Id : 920906520
Section Number : 2
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Question Number : 26 Question Id : 92090626246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  'Rule of halves’ phenomenon is seen in Hypertension.

Reasons (R) : ‘Tracking of blood pressure’ is seen in Hypertension.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)w
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct

Options :

920906103701. 1
920906103702. 2
920906103703. 3
920906103704. 4

Question Number : 26 Question Id : 92090626246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I @ du QU MU § US SHUDHUA (Assertion A) B FU T faf@d § o g IS
@RI (Reason R) & &4 H:

fifFEYT A - 3guTal FaH ¢ ulgenT Erdadn | uRatéd gidl 8
HRUIR: R 21E B FRAY I=REET # uRaRh e g |
IUIad HYF & AP | A ST U fahedi | 9 Tel IO &1 994 Hifold

(1)  ASIRRTHI Fal 8 iR R, A DI el ARAT §

2) ARREHA G €, dAfb R, A B HE ARAT G &
) AUEE AR U TR

(4 AWGITIE ABTRETE

Options :

920906103701. 1
920906103702. 2
920906103703. 3
920906103704. 4

Question Number : 27 Question Id : 92090626247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Diptheria is causes by

(1)  Staphylo coccus (2) Corynebacterium
(3) Streptococcus (4) Meningococcus
Options :

920906103705. 1
920906103706. 2
920906103707. 3
920906103708. 4

Question Number : 27 Question Id : 92090626247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl (Eweitfyan Fafafad & sro g e

(1) WEHEADEY (2) WDINAGRIRGH
(3) EPHHd @) AfT®IET

-



Options :

920906103705. 1
920906103706. 2
920906103707 3
920906103708. 4

Question Number : 28 Question Id : 92090626248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a particular oxygen is mixed with antibody in the presence of an electrolyte at a
suitable temperature and PH the particles are clumped, this is called

(1)  Precipitation (2) Agglutination
(3 MNeutralisation (4) ELISA
Options :

920906103709. 1
920906103710. 2
920906103711. 3
920906103712. 4

Question Number : 28 Question Id : 92090626248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid Big UCIo $UI IUGad did 3R PH TR Sadeiaige @i Juredfd ¥ tdiars! & |y firamn
ST 8, & B YRTd 81 91 | 3 Fel oIl &

(1) S@agu 2) HHgA
3) IeRiFIHI (4) uferdr
Options :

920906103709. 1
920906103710. 2
920906103711. 3
920906103712. 4

Question Number : 29 Question Id : 92090626249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Daily requirement of lodine in adults is

(1) 50 mcg (2) 100 mcg
(3) 150 mcg (4) 200 mcg
Options :

920906103713. 1
920906103714. 2
920906103715. 3
920906103716. 4

Question Number : 29 Question Id : 92090626249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
quEp] § MASH &1 % sazaddr fa gl &2

(1) 50mcg (2) 100 mcg
(3) 150 mcg (4) 200 mcg
Options :

920906103713. 1
920906103714. 2
920906103715. 3
920906103716. 4

Question Number : 30 Question Id : 92090626250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BOAA is the toxin responsible for

(1)  Neurolathyrism (2) Epidemic dropsy
(3) Fluorosis (4) Endemic Ascites
Options :

920906103717. 1
920906103718. 2
920906103719. 3
920906103720. 4

Question Number : 30 Question Id : 92090626250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

BOAA FufeifEa #f ¥ foru foru Iwerf faw @ffewm) 82

(1) difreedmEs (2) SIdYNh HEMR]
3) IR (4) RSP Sde
Options :

920906103717. 1
920906103718. 2
920906103719. 3
920906103720. 4

Question Number : 31 Question Id : 92090626251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Acute severs malnutrition diagnostic criteria include all except

(1)

()

(3) Visible severe wasting
)

(4 Weight for height below 25D of WHO Growth standards 2006.

Bipedal edema

Mid arm circumference below 115 mm

Options :

920906103721. 1
920906103722. 2
920906103723. 3
920906103724. 4

Question Number : 31 Question Id : 92090626251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dd MR Y Fem ards & Fofafed § 9 ey ue & srarar a1t e g 2

(1) feug wem

(2) AP g D aify 115 et 4 HH

(3) = TR &I

(4) T3y WrRaETed gig WM, 2006 F 25D F A1 B IAESD AU HR

Options :



920906103721. 1
920906103722. 2
920906103723. 3
920906103724. 4

Question Number : 32 Question Id : 92090626252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DASH stands for

(1)  Domestic approach to safeguard hepatitis
(2)  Dietary approaches to stop hyperlipidemia
(3)  Domestic approaches to stop hypertension

(4)  Dietary approaches to stop hypertension

Options :

920906103725. 1
920906103726. 2
920906103727. 3
920906103728. 4

Question Number : 32 Question Id : 92090626252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 (DASH) @ 31T &:

(1) SHfed b ¢ YHIs guersied

(2) S MR T ®I BRI

(3) SR RS ¢ ¥ gRWeTH

(4)  STES S g WY BRI
Options :

920906103725. 1
920906103726. 2
920906103727. 3
920906103728. 4

Question Number : 33 Question Id : 92090626253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most common cancer, affecting both males and females of the world is :

(1) lung cancer (2) Pancreatic cancer
(3) Buccal mucosa cancer (4) Colorectal cancer
Options :

920906103729. 1
920906103730. 2
920906103731. 3
920906103732. 4

Question Number : 33 Question Id : 92090626253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fay & goul SR Aigansi gl &1 WHIfad FRA arel Jaiits g & I (HE) &:

(1) BHS B HW (2) S HW
(3) T s HE (4) Hloded U
Options :

920906103729. 1
920906103730. 2
920906103731. 3
920906103732. 4

Question Number : 34 Question Id : 92090626254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most common cause of blindness in India is

(1) Refractive errors (2) Trachoma
(3) Cataract (4) Vitamin A deficiency
Options :

920906103733. 1
920906103734. 2
920906103735. 3
920906103736. 4



Question Number : 34 Question Id : 92090626254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA H 3itdT &1 Jalite GH- BRI E ;

(1)  SUga® Ffedl (2) T
3) Hifaarfe< (4) fdeIfi A &1 sfeud
Options :

920906103733. 1
920906103734. 2
920906103735. 3
920906103736. 4

Question Number : 35 Question Id : 92090626255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In post disaster phase, for ensuring safe water supply, it is advisable to have a residual
chlorine level of

(1) 0.3 mg / Liter (2) 0.5 mg/ Liter
(3) 0.7 mg / Liter (4) 1 mg/ Liter
Options :

920906103737. 1
920906103738. 2
920906103739. 3
920906103740. 4

Question Number : 35 Question Id : 92090626255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR SIS Sfael H, GRIa srergfd &1 gRfsa & forg, saf¥y = o1 Fafafad TR
SR g &:

(1) 0.3 fFmeteR (2) 0.5 fdeR
(3) 0.7 fEEnsseR 4) 1 e
Options :

920906103737. 1
920906103738. 2



920906103739. 3
920906103740. 4

Question Number : 36 Question Id : 92090626256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Family, which lags behind rest of the community, is known as:

(1)  Community Family (2) Elementary Family
E) Problem Family (4) Broken Family
Options :

920906103741. 1
920906103742. 2
920906103743. 3
920906103744. 4

Question Number : 36 Question Id : 92090626256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y FHEEY fies S arel URaR $edardl g :

(1) 9 aRaR (2) SRIYE ular
(3) THH- gRaR (4) dEfed- AR
Options :

920906103741. 1
920906103742. 2
920906103743. 3
920906103744. 4

Question Number : 37 Question Id : 92090626257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inner subjective thought of a person towards an Individual or a situation is best
described as:

(1) Attitude (2) Value
(3) Belief (4) Opinion

Options :



920906103745. 1
920906103746. 2
920906103747. 3
920906103748. 4

Question Number : 37 Question Id : 92090626257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et aafte o1 fRufa & ufa 5t afdq & srafte fawafy e & Foftfea su &
gaaH 23 afvfa fear Sman g

1y g 2) Hd
3) fayms (4) WHd
Options :

920906103745. 1
920906103746. 2
920906103747. 3
920906103748. 4

Question Number : 38 Question Id : 92090626258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Social pathology is:

(1)  Change in disease pattern due to change in lifestyle.
(2)  Study of social problems, which cause disease in population.
(3)  Conflicts arising from new opportunities in transitional societies.
(4) Study of human relationships and Behavior.
Options :

920906103749. 1
920906103750. 2
920906103751. 3
920906103752. 4

Question Number : 38 Question Id : 92090626258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) oitgd 9l ® uiadd & SR I uliosg § uiadd

2) 39 GrHTfors qERSi &1 S ol o6 A S FRP ¢
(3)  uRadl (HeHuig) TATS § AU il ¥ 3Ud 65

(4)  H-d Hdtll Ud AR &1 Ga

Options :

920906103749. 1
920906103750. 2
920906103751. 3
920906103752. 4

Question Number : 39 Question Id : 92090626259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Period between the possible time of detection and the actual time of diagnosis is

(1) Lead time (2) Serial Interval
(3 Screening time (4) Generation time
Options :

920906103753. 1
920906103754. 2
920906103755. 3
920906103756. 4

Question Number : 39 Question Id : 92090626259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1A S F1d SR IRl FHeH &d & fag 1 e@afd g

(1) dIgTRA (2) HEdl AT
(3) ©ig g 4) Eha gma
Options :

920906103753. 1
920906103754. 2
920906103755. 3
920906103756. 4



Question Number : 40 Question Id : 92090626260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Human Development Index (HDI) does not Include which of the following :

(1)  Mean years of schooling (2) Life Expectancy at age 1
(3)  Real GDP per Capita. (4) Adult Literacy rate
Options :

920906103757. 1
920906103758. 2
920906103759. 3
920906103760. 4

Question Number : 40 Question Id : 92090626260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 [de @i (HoI) # Faffad 3 4 o w1 i 7818 2

(1) faemerdt fRien & Are gy (2) 134 BT Y W Siia- T
3)  ufd oofdd arafdss off €1 di (4) T HI&Rdl g
Options :

920906103757. 1
920906103758. 2
920906103759. 3
920906103760. 4

Question Number : 41 Question Id : 92090626261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Virulence of a disease is Indicated by :

(1)  Proportional mortality rate (2) Specific mortality rate
(3) Case fatality rate (4) Secondary attack rate
Options :

920906103761. 1
920906103762. 2



920906103763. 3
920906103764. 4

Question Number : 41 Question Id : 92090626261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepaft 31 61 I Fufafea & grr fAde edl &

(1)  gHAUTdS Jg & 2 RRPIgXR
3) FHIIR (4) fadla® smard R
Options :

920906103761. 1
920906103762. 2
920906103763. 3
920906103764. 4

Question Number : 42 Question Id : 92090626262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Secondary level of prevention include all of the following except :

(1) Health screening for Diabetes Mellitus
(2)  Case finding for falciparum malaria

(3 Contact tracing for HIV

(4)  Reconstructive surgery in Leprosy
Options :

920906103765. 1
920906103766. 2
920906103767. 3
920906103768. 4

Question Number : 42 Question Id : 92090626262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fgdias Wiy fFaru & FafafE 7 4 59 e &) Sigs ol siafdy e &

(1)  HYHE & fou W S

) HERA AR F ATFd $F @

(3) UE 3 i % forg Tl 1 s

4) B H YRS U Afdam
Options :

920906103765. 1
920906103766. 2
920906103767. 3
920906103768. 4

Question Number : 43 Question Id : 92090626263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Global Eradication of small pox was achieved on :

(1) 26" Oct 1977 (2) 8 May 1980
(3) 17 March 1982 (4) 17 April 1978
Options :

920906103769. 1
920906103770. 2
920906103771. 3
920906103772. 4

Question Number : 43 Question Id : 92090626263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U9 & diYH I D1 AL Hd U g T o 2

(1) 26 3fEEER 1977 (2) 8¥3 1980
(3) 17 HTE 1982 (4) 17 3MUd 1978
Options :

920906103769. 1
920906103770. 2
920906103771. 3
920906103772. 4



Question Number : 44 Question Id : 92090626264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the prevalence of a disease is very low as compared to the incidence, it implies :

(1
(2
(3
(4

) Disease is non-fatal

) Calculation of prevalence and Incidence is wrong
) Disease is very fatal and / or easily curable.
)

Nothing can be said as they are independent

Options :

920906103773. 1
920906103774. 2
920906103775. 3
920906103776. 4

Question Number : 44 Question Id : 92090626264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe fabil 71 Bt AYSH A MUTH B ga- H 9gd A g, O 38 3 B

(1) QIR (@muE &

(2) AT DT DAl SR AU & YRGT Tad &
(3) I At UIUER § iR/ U1 WRagds e §
@) o6 v 78] Hel o I&dl ¢ Fifd d Wad o

Options :

920906103773. 1
920906103774. 2
920906103775. 3
920906103776. 4

Question Number : 45 Question Id : 92090626265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Serial Interval is

(1)  Time gap between index and primary case
(2)  Time gap between primary and secondary case
(3)  Time taken from receipt of infection to development of maximum infectivity

(4)  Time taken from infection till a person infects another person.

Options :

920906103777. 1
920906103778. 2
920906103779. 3
920906103780. 4

Question Number : 45 Question Id : 92090626265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YEAEG R &
(1)  Ga&SiD R WYHS amd & dE R
) Ui SR fgdias Aamd & di" 9aa
(3) HHHU P U § YhHEGd & AAftdman fawm # foran T gy
4) Tl Sopfira safad g fasddt o safda &1 dafid & o foran man w9g

Options :

920906103777. 1
920906103778. 2
920906103779. 3
920906103780. 4

Question Number : 46 Question Id : 92090626266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chicken pox is characterized by all except :

(1) Deep seated and multilocular rash

(2)  Pleomorphic stages of Rash

(3)  Rasher symmetrical, centripetal and dew-drop like
(4) Palms and soles not affected by Rash

Options :



920906103781. 1
920906103782. 2
920906103783. 3
920906103784. 4

Question Number : 46 Question Id : 92090626266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fufeiaa & ¥ oy v &) Siger a4l St ardn (ke uled) & Sifiiaeur g2

(1) T 3R g e

@ e ot agedl siqwriid

3) gufafag ke, S ud o @1 4 & 2 gl ¢
@)  gferEl SR ded et § uifad =181 gid |
Options :

920906103781. 1
920906103782. 2
920906103783. 3
920906103784. 4

Question Number : 47 Question Id : 92090626267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not true about Influenza Virus?

(1)  Influenza virus A is subject to frequent antigenic variations
(2)  Antigenic drift is a gradual antigenic change over a period of time
(3)  Antigenic shift is due to genetic recombination of virus
(4)  Major epidemics are due to antigenic drift
Options :

920906103785. 1
920906103786. 2
920906103787. 3
920906103788. 4

Question Number : 47 Question Id : 92090626267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
STRIE-T 1A’ & dad | Faftfaa § 9 &F 91 |el 6] 87
(1)  STHqU-l a3y A SRER Uetafis uRghy &1 fava g
2 U fgue (@ae) U Sraa # wie eei-d WRad ¢

3) UEHE Rive amvd % SHfes yAfafiae & sRu gk g
4)  UHE HEMEIRE] tee 30 & SRl gkl @

Options :

920906103785. 1
920906103786. 2
920906103787. 3
920906103788. 4

Question Number : 48 Question Id : 92090626268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Multi-drug resistant (MDR) tuberculosis strain is one that is :

(1) At least resistant to INH.
(2) At least resistant to Rifampicin.

(3) Resistance to INH and Rifampicin with or without resistance to other anti-7B drug
(4)  Resistant to streptomycin only.

Options :

920906103789. 1
920906103790. 2
920906103791. 3
920906103792. 4

Question Number : 48 Question Id : 92090626268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¥elts & oy wg-sitwey feRYeh (MDR) werT (&) g a8 & o

(1) FHISH IS ¢ 0T Ul g

) BH A S ASHERE gk 7

(3) 3 ufd-&ry I Swfert & ufadfeai fam ufoied inH SR Tsthfrafm ufaried 8
(4) Pad PR ufcRid §

Options :

920906103789. 1
920906103790. 2
920906103791. 3
920906103792. 4

Question Number : 49 Question Id : 92090626269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The drug of choice for treating cholera in adults is single dose of :

(1) Doxycycline (2) Cotrimoxazole
(3) Tetracycline (4) Furazolidone
Options :

920906103793. 1
920906103794. 2
920906103795. 3
920906103796. 4

Question Number : 49 Question Id : 92090626269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O] H PO & IUAR P U ddbfeus siwiy Fafafad &1 ted @ &:

(1)  SiefasE (2) DIHIGISId
(3) cerarsiad (4) WREASH
Options :

920906103793. 1
920906103794. 2
920906103795. 3
920906103796. 4



Question Number : 50 Question Id : 92090626270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pre-exposure prophylaxis for Rabies is given on:

(1) Days 0, 3,7, 14, 28, 90 (2) Days0, 3,7, 28,90
(3) Days 0, 3 (4) Days0,7, 28
Options :

920906103797. 1
920906103798. 2
920906103799. 3
920906103800. 4

Question Number : 50 Question Id : 92090626270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e F fore yd IquRAiTadeR) Negdieyd $e G0 o5 &

(1) 0,37 14,28 904 fa7 (2) 0,37 2890 dfA
3) 0,33fA @) 0,7 283
Options :

920906103797. 1
920906103798. 2
920906103799. 3
920906103800. 4

Question Number : 51 Question Id : 92090626271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  India is in the late expanding phase of demographic cycle.

Reasons (R) : Birth rate in India is declining rapidly.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906103801. 1
920906103802. 2
920906103803. 3
920906103804. 4

Question Number : 51 Question Id : 92090626271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & duA QU MU § UH SHUBUA (Assertion A)  FU T faf@d § O TR IS
U] (Reason R]éﬁ'{:q ﬂ;

HUSFYT A ©  HRA SHifbDIY Teb P AR D I TR A B |
HRUIR: HRd H T HeER doll ¥ RIE B

SWRIF FY F 3Mdiss |, e 3 e fadedl # ¥ el IW &1 9979 Sifoe
(1)  ASRREH F8l § 3R R, A B Hel AR §

@  ARRIAGE §, Al R, A D] TS AT AL €

@) ATEIE AfpTrUd R
(4 AU TRIE, ABIRUE T

Options :

920906103801. 1
920906103802. 2
920906103803. 3



920906103804. 4

Question Number : 52 Question Id : 92090626272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): A catalyst can increase the rate constant to a large extent.
Reasons (R) : By using a suitable catalyst use can significantly increase yield of a
reaction.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1
(
(3
(4

Both (A) and (R) are correct and (R) is the correct explanation of (A)

[

)
) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
) (A) is correct but (R) is not correct

)

(A) is not correct but (R) is correct

Options :

920906103805. 1
920906103806. 2
920906103807 3
920906103808. 4

Question Number : 52 Question Id : 92090626272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & Y QU U § UF SfidYT (Assertion A) & ®U  H fofdd § df g1 39S
BRI (Reason R) & &Y H:

AMUBYTA : TP IARS AP THH TR T 3R H d¢1 IHdl gl

HRUR IPge IGRD & WA gRI gH Heayul =4 & il sfiifrar &t Iuafsr o
g TR IADBA |

JWIad HYA & 3fdld | Al fGU U fadwed] d 9§ ¥gl IO &1 994 Difoid

(1) ARRIAHE § 3R R, A P G RS B

) ASIRRGH F8l g, Al R A DI el AT 81 &
(3) AWEIE AfBRuS TR ¢

(4) AUEITEIE, ABIRUE

Options :

920906103805. 1
920906103806. 2
920906103807. 3
920906103808. 4

Question Number : 53 Question Id : 92090626273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  India is currently having a demographic dividend.

Reasons (R) : Late expanding stage will have a higher number of economically
productive population and the depending ratios start declining.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

4 (A) is not correct but (R) is correct

Options :
920906103809. 1
920906103810. 2



920906103811. 3
920906103812. 4

Question Number : 53 Question Id : 92090626273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 & duA ST MU § TP HHBHUA (Assertion A) B ¥ H fafdad § O g IS

hRU (Reason Fl]a?Fq ff;

AHHBYT A - TAHH H YR SHifbDg arHie ot fufa 7 g1

PHRUIR - IR fAeaid sraw # 3nfifes U § IAEE S-RE & U= 3= gl
a1 i o3 &1 gF el

IR HYF & P H, g 3 U fdeedi § 9 9gl I &1 994 Hifold

(1)  AARRIHA FEI § 3R R A D el ARS B

) ASRRTEH FEl & Tl R, A D! Fel SARAT gl &
(3) A¥SE APARIE A 8

(4) AW el e, AMPTR TG €

Options :

920906103809. 1
920906103810. 2
920906103811. 3
920906103812. 4

Question Number : 54 Question Id : 92090626274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Ancylostoma duodenale used to be know as old world hook worm.
Reasons (R) : Human are infected when filariform larvae in the moist soil, penetrates

the skin of feet or leg.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
4) {A) is not correct but (R) is correct
Options :

920906103813. 1
920906103814. 2
920906103815. 3
920906103816. 4

Question Number : 54 Question Id : 92090626274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

49 @ vy QU U § UF SiUSYA (Assertion A) & T4 ¥ foif€d § d g¥R1 I9&

U] (Reason R]?EFLT ff;

HUFYA A . THRIRCH Sle-d S gdad! A UreH fay ie-$iH un|

HRUIR: TS e HehHd 81d & oid 49 el T Wwigaiedl ardl, uig a1 e @1 @dn &1
Nfed FIa1 gl

IRIFd HYH & 3dis H, 414 ou U fawedl § 9 9gl IR &1 994 Hifou

(1) ASRRIATHE § 3R R, A P T AR B

2) ASIRRTH Hal g, Al R, A DI el ARAT 76l &
3) AR AfPIRUS TS T

(4 AR TEIE, APTRUL R

Options :

920906103813. 1
920906103814. 2
920906103815. 3



920906103816. 4

Question Number : 55 Question Id : 92090626275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Steps of Demographic cycle

A Low stationary

B Late expanding
C Early expanding
D. High stationary
E.

Declining

Choose the correct answer from the options given below :

(1 Bo>C—o2A>SESD
(2) DaCoaBa>ASE
(3) DasCoaBoaE—=A
(4) CoBoaASsD-SE
Options :

920906103817. 1
920906103818. 2
920906103819. 3
920906103820. 4

Question Number : 55 Question Id : 92090626275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WHifehTpy T & TIUH §

A g R

B. JRfaER

C. 3RS fdwr
D. I fRRa

E. BI9HM

1=l fau o fasedi § 9 9El IR &1 904 Hifel

(1n B>C—a2A-SE-D
2) DoC-oBoaASE
(3) DoC—oB—=2E=A
(4) CoaBoaAaD—E
Options :

920906103817. 1
920906103818. 2
920906103819. 3
920906103820. 4

Question Number : 56 Question Id : 92090626276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Steps of planning cycle

A Assesment of resources

B Analysis of health situation and establishment of goals
G Monitoring and evaluation

D. Fixing priorities
E.

Write up of formulated plan and programming

Choose the correct answer from the options given below :

(1) BSE-D->CSA
(2) BosA=sDoEaC
(3) CoE->D->A->B
(4) BoDoaASESC

Options :



920906103821. 1
920906103822. 2
920906103823. 3
920906103824. 4

Question Number : 56 Question Id : 92090626276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrdrer =sh & W &

A, T FT MhaH

B. areA Rufcl &1 faweim ok dea-FuRor
C.  3f¥aul 3R i

D. WUl dg &I

E. GFds Ao 3R SRisH foharagd &1 femo
4t fau o fasedi # ¥ Wl I &1 944 S

(1) B—-E—-D->C—oA

(2) BoASD-E-SC

3 C—sE-D->A-—B

(4) BoD—o>A-2E-C
Options :

920906103821. 1
920906103822. 2
920906103823. 3
920906103824. 4

Question Number : 57 Question Id : 92090626277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Important steps of krebs cycle

A, Succinate
B Malate

G a—Ketoglutarate
D. Citrate
E.

Oxaloacetate

Choose the correct answer from the options given below :

(1) AsE—=-D—->B =C
(2) DoC—->A->B->E
(3) DaBoaCoE=SA
(4) AaxDasBoE-C
Options :

920906103825. 1
920906103826. 2
920906103827. 3
920906103828. 4

Question Number : 57 Question Id : 92090626277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T & He@yUl QU § :

A HHHC

B. WdT

C. a-fdhcigee

D. W

E Sididuagee

di fau e fasreul @ 9 |l IR &1 9U4 Sl -
() A>E»>D->B »C

)
(2)
(3) DoB->C—oE=SA
(4) A=aD=2BoaE=C

DC—o>A>B—=E

Options :



920906103825. 1
920906103826. 2
920906103827. 3
920906103828. 4

Question Number : 58 Question Id : 92090626278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Phases of clinical trial

A Safety and efficacy
Safety and Dosing

B

E. Laborating studies

D Post marketing safety and efficacy
E

Safety evaluation at intial stage

Choose the correct answer from the options given below :

(1) CoB=oaDoE=A
(2) ESE->A->C-SD
(3) C=>A=>D—2B—oE
4 C—oE-=B—-A->D
Options :

920906103829. 1
920906103830. 2
920906103831. 3
920906103832. 4

Question Number : 58 Question Id : 92090626278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TeIHe gielu $1 sl g ;
A e SR wHIfaEarl

B. Y& 3R WIH

C. VHTRITE 3ea

D. IR fauur Frem SR uuifadd

E. SRIYS fawl OR & Hedidh

e fou U fasp el § 9 Hel IR &1 9 Hif

(1 C>BoaD-oE—=SA
(2) BoE—=>A->C—-D
(3) Co>A->D—->B->E
(4) CoE—=-B—-sA-SD
Options :
920906103829. 1
920906103830. 2

920906103831. 3
920906103832. 4

Question Number : 59 Question Id : 92090626279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Step to conduct a Randomized Controlled Trial (RCT)

A. Randomize
B Select experimental or study population
G Target population

D. Assesment
E

Manipulation and follow-up

Choose the correct answer from the options given below :

(1) DoaCoE=SBo A
(2) A—>E->C>B->D

(3) CoBoA—->E=D
(4) CaoEaB=2ASD



Options :

920906103833. 1
920906103834. 2
920906103835. 3
920906103836. 4

Question Number : 59 Question Id : 92090626279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
arefRs@ipd R uRem (RCT) #3A F HIUH 8
A URESS

B. UIRTS OI feqg- S-HE &1 994
C. afeyd e &1 A
D. HeHiHA

E.  T% DINd 3R S
A1 fau U fasedl # 9§ TEl IR &1 994 ST

(1 Do>C—oE—->B-oA

2) A—->E->C>B->D

3 C—=B—->A->E-D
)

(4 CoE-B->A-D
Options :

920906103833. 1
920906103834. 2
920906103835. 3
920906103836. 4

Question Number : 60 Question Id : 92090626280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Steps of surveillance cycle model

A Analysis and interpretation
B Collection of data

C Integration

D. Dissemination
E

Surveillance products

Choose the correct answer from the options given below :

(1) B=D—=EsA-SC
(2) B—-C—o>E-D—-A
(3) B>C—o>A—-SE—-D

)

(4 BoD3A->C—E

Options :

920906103837. 1
920906103838. 2
920906103839. 3
920906103840. 4

Question Number : 60 Question Id : 92090626280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R =6 Higd & WuHE €
A fazemor 3R Adea
B. TUUUT

C. HHDTA

D. WHR

E R 3ae

A QU U fds el # 9 Wel IR &1 99 Hifeie -
() BoD-oE-s>A-SC
(2) Bo>CoE—-D—-A
3) BoCoA-SE-SD
(4) BoD—a2A—->C—=E

Options :



920906103837. 1
920906103838. 2
920906103839. 3
920906103840. 4

Question Number : 61 Question Id : 92090626281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of epimer

(1) Mannose and glucose (2) Glucose and Ribose
(3) Galactose and Mannose (4) Glucose and Galactose
Options :

920906103841. 1
920906103842. 2
920906103843. 3
920906103844. 4

Question Number : 61 Question Id : 92090626281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UfTR &1 IqTeRv FafafEd # 4 o4 a1 82
(1) HAS 3R TGHISl
(2) TS SR IFE

3) TR AR A9
(4) Tl AR e

Options :

920906103841. 1
920906103842. 2
920906103843. 3
920906103844. 4

Question Number : 62 Question Id : 92090626282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Muscle cannot maintain blood glucose because of deficiency of

(1)  Glycogen phosphorylase (2) Hexokinase
(3)  Glucose — 6-phosphate (4) Phospho glucomutase
Options :

920906103845. 1
920906103846. 2
920906103847. 3
920906103848. 4

Question Number : 62 Question Id : 92090626282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAfrarad o A feas! sreadl & S0 Aasl Y9 oIl &1 SRIEd -1l T8 ddhd! 87

(1)  TarSdioH BRBRSS

2) BoHIPEd

(3) Tq&Id- 6 -BIEhC

(4)  WIEH] Tgb R
Options :

920906103845. 1
920906103846. 2
920906103847. 3
920906103848. 4

Question Number : 63 Question Id : 92090626283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A normal family cycle is conceived as having deferent phases

A Contraction

B Dissolution

& Formation

D. Complete extension
E.

Complete contraction

Choose the correct answer from the options given below :

(1) DoBaC—=2E—=A
2) C—-D->A->E-—B
(3) BoE=A=D-C
4) B>C—>D—-SE—=A
Options :

920906103849. 1
920906103850. 2
920906103851. 3
920906103852. 4

Question Number : 63 Question Id : 92090626283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 991 Aeh 1 fafird sfawd FAgfefed ¢
A HPE

B. WfdegA

C.

D. UUiUER

E g EFa

i fau 7o fasedi § |9 9t I &1 94+ Hifeld -

(1) DoB-o>C—oE—-A
(2) CoD=>A>E—=B
(3) E-E-A->D->SC
(4) BoC—=aD—SE=A



Options :

920906103849. 1
920906103850. 2
920906103851. 3
920906103852. 4

Question Number : 64 Question Id : 92090626284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following in true regarding case control study?

A Most expensive study

B Suitable for study of rare diseases
3 Involver large number of subjects
D. Starts with the disease
E.

Proceeds from cause to effect

Choose the correct answer from the options given below :

(1) B,CandDonly

(2) B and D only

(3) B,DandEonly

(4) A, D and E only
Options :

920906103853. 1
920906103854. 2
920906103855. 3
920906103856. 4

Question Number : 64 Question Id : 92090626284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIHE Frda siorgs & e | Rofafad 3 4 o1 3 udl &

A.  gaife AgT g

B. gaH I & ST g IUgE

C. WA @ it dw wferd et B
D. Y IR

E.  $RUIYYHE B % dddl o
4t fau e fasedi § § 9gl ST &1 994 Sifod ;

(1) adaB,C 3D

(2) HaaB3ARD

(3) HadaB,DARE

(4) HadA DIRE
Options :

920906103853. 1
920906103854. 2
920906103855. 3
920906103856. 4

Question Number : 65 Question Id : 92090626285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Best method to show trend of events with passage of time is :

(1)  Bar diagram (2) Line diagram
(3) Histogram (4) Pie chart
Options :

920906103857. 1
920906103858. 2
920906103859. 3
920906103860. 4

Question Number : 65 Question Id : 92090626285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afamy gad geisil @1 ugi uefia #33 @t yafad fafd &

(1) d©38 g 2) ¥@-fE
3) omgd R (4) S
Options :

920906103857. 1
920906103858. 2
920906103859. 3
920906103860. 4

Question Number : 66 Question Id : 92090626286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Mala — N oral contraceptive pill is supplied free of cost

Statement Il : Mechanism of action of IUD is to prevent ovulation

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement |l are true
(2
(3

(4

Both Statement | and Statement |l are false

)
)
) Statement | is true but Statement Il is false
) Statement | is false but Statement Il is true

Options :

920906103861. 1
920906103862. 2
920906103863. 3
920906103864. 4

Question Number : 66 Question Id : 92090626286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR FyA R E:

HYF | - HId - T gE! - iERyS Ml & Aged omgfd @1 9 81
HYA11: TS 31 B fobgifafll &1 d feraeru S S 8|

IWIH HUH & 3l | 411 fau 70 fawetl 7 § "gt I &1 994 Sifee

(1) BY ISR HT B

2) @Y1 SR ISHI T §

(3) YT FA g, Al HYF |l 3T B
(4) DY IEA B, b Y 11 9 8

Options :

920906103861. 1
920906103862. 2
920906103863. 3
920906103864. 4

Question Number : 67 Question Id : 92090626287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the colour coding of the bag used in hospital to dispose human anatomical
waste such as body parts :

(1) Red (2) Yellow
(3) Blue (4) Black
Options :

920906103865. 1
920906103866. 2
920906103867. 3
920906103868. 4

Question Number : 67 Question Id : 92090626287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Saral § IR S W O IS Ui & AR & Y g gF ard 9
B - IS F 87

(1) drd 2) dien
(3) @ (4) HIal
Options :

920906103865. 1
920906103866. 2
920906103867. 3
920906103868. 4

Question Number : 68 Question Id : 92090626288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (STD Kit color) List Il Syndrome

(A)  White () Genital ulcer disease

(B) Grey ()  Urethral/Cervical discharge
(C) Green () Vaginal discharge

(D) Yellow (IV) Lower Abdominal Pain

Choose the correct answer from the options given below:

(1) (A)-(10), (B)-(1), (C)-(I), (D)-(IV)
(2) (A)-(1), (B)-(IN), (C)-(I), (D)-(IV)
(3) (A)-(1), (B)-(1), (C)-(IV), (D)-(11)
(4) (A)-(11), (B)-(Hn), (C)-(N), (D)-(1V)

Options :

920906103869. 1
920906103870. 2
920906103871. 3
920906103872. 4

Question Number : 68 Question Id : 92090626288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gt | & G Gl 11 BT A $iferg

Tt (Tl fave 1 3 a1 (Rig)

(A) Thg () SEART 0T IR
(B) @) () AR TR 9
© B4 ay g EE
(D) YTaw (v) Y I g

+id fdu 7T fadedl § O gt 3T &1 9494 B

(1) (A=), (B)-(1), (C)-(H1), (D)-(1V)

(2)  (A)-(1), (B)-(11), (C)-(l1), (D)-(1V)

(3) (A=), (B)-(1), (C)-(IV), (D)-(1)

(4)  (A)-(I1), (B)-=(11), (C)-(1), (D)-(1V)

Options :

920906103869. 1
920906103870. 2
920906103871. 3
920906103872. 4

Question Number : 69 Question Id : 92090626289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Outbreak of gastroenteritis is the most common reported disease in
the post-disaster period.

Reasons (R) : WHO recommend typhoid and cholera vaccines in disaster affected
area.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :



920906103873. 1
920906103874. 2
920906103875. 3
920906103876. 4

Question Number : 69 Question Id : 92090626289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & HuA QU MU § UH HHDHUA (Assertion A)  FU  H fafda § df TR IHD
H[{U] (Reason R]aFFq ff;

HUFYT A - TEUIMY BT UHTY IR IS HTd | Halide AR ufadied I 81

PRUIR: =g Ud 3 9 3ugl uyifad &3 # TawEs SR dad & b P
ST D

JWIE HYA & 3dlid |, i feu U fawedi 1 9 el It &1 994 Difo

(1) A3 RS Hel € 3R R, A ®I el UAT &

) ASRRSHI TG E AP R AP Ul ARSI ASI &

3) AUSE PRI TS ®

(4 AT TRIE, ABARTE B

Options :

920906103873. 1
920906103874. 2
920906103875. 3
920906103876. 4

Question Number : 70 Question Id : 92090626290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Appropriate statistical method to compare two mean is :

(1 Chi-square test (2) Student's t—test
(3) Odds ratio (4) Correlation coefficient
Options :

920906103877. 1
920906103878. 2
920906103879. 3
920906103880. 4



Question Number : 70 Question Id : 92090626290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l HIed B a1 & fore Iuged gifere fafd g -

(1) IS A Tdem 2) faendf - odiam
3) fauw U@ (4) YgHdY Uie
Options :

920906103877. 1
920906103878. 2
920906103879. 3
920906103880. 4

Question Number : 71 Question Id : 92090626291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Methylene blue reduction test is wused for finding adequate
pasteurization of milk.

Statement Il : Cow's milk contains more carbohydrate than breast milk.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false

(3 Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true
Options :

920906103881. 1
920906103882. 2
920906103883. 3
920906103884. 4

Question Number : 71 Question Id : 92090626291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A HyE R E:
®YA | - AR A o= udieor S UEhT gy & gAY YRGHSRU giomy & fore fear

EIGI

YT 11 T P gY T Afgdl T & gy DI 30 HfiF Helemac gidl o
IWIad HYA & Mard |, A fSU U famed] # 9 el I 199 Hiferg

(1
(2)
(3)
(4)

YT AR G Td §
HYF | 3R 11T SR §
YA | A §, Alh- HYA || 38 &
HYF | A 8, AT HU 1| T &

Options :

920906103881. 1
920906103882. 2
920906103883. 3
920906103884. 4

Question Number : 72 Question Id : 92090626292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following microbes are acid fast?

A,

B
8
D.
E:

Mycobacterium Leprae
Cryptosporidium
Staphyloccus

Nocardia

Pseudomonas

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

A, D and E only
A, C and E only
A, B and D only
C and E only

Options :
920906103885. 1
920906103886. 2



920906103887. 3
920906103888. 4

Question Number : 72 Question Id : 92090626292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofafEa I 4 &9 4 geaela sra-wid €2
A WEHIAEITH AR

B. fopreiiifean

C. WHhEdididd

D. s

E.  HSHHEN

19 fau v faeedl § 9 9&l I &1 994 Siferw
(1) &HddA DIRE

(2) HaAA C3HRE

(3) FAdA, B3RD

(4) HAAC IRE
Options :

920906103885. 1
920906103886. 2
920906103887. 3
920906103888. 4

Question Number : 73 Question Id : 92090626293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Live 'attenuated’ vaccine (I) Diphtheria vaccine
(B) Subunit-Recombinant () BCG vaccine
Protein
(C) Subunit-Toxoid (Ill) Rabies vaccine

(D) Killed inactivated’ vaccine  (IV) Hepatitis B vaccine

Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(11), (C)-(I), (D)-(111)
(2) (A=), (B)-(IV), (C)-(11), (D)-(1)
(3) (A=, (B)-(1V), (C)-(1), (D)-(1lT)
(4) (A0, (B)-(IV), (C)-(In), (D)-(1)
Options :

920906103889. 1
920906103890. 2
920906103891. 3
920906103892. 4

Question Number : 73 Question Id : 92090626293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gt | & Gy Gl 1| 1 A Sifo

gal-I geit-1
() Tolld (dIPa) fear 1 fEedifea &
(B) SUSHIR-YAEARIA ay &t Sl e
urd=

© QUSHIS- Siarasmy (DG EATE]
(D) Ha Ffssga e (v) eversfew dt fem

i f3u U fasmedl 1§ § 9l IR &1 99 BT

1
2

( A)-(IV), (B)-(IN), (C)-(1), (D)-(1)
(

(3

(

) (

) (A)-(Hn), (B)-(IV), (C)-(11), (D)-(1)
) (A)-(11), (B)-(1V), (C)-(1), (D)-(11)
) (

4 A)-(11), (B)-(1V), (C)-(l1), (D)-(1)



Options :

920906103889. 1
920906103890. 2
920906103891. 3
920906103892. 4

Question Number : 74 Question Id : 92090626294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Triangle of epidemiology includes interaction and interdependence of
agent, host, environment and time.

Statement Il : Epidemiological triad consist of agent, host and environment

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

920906103893. 1
920906103894. 2
920906103895. 3
920906103896. 4

Question Number : 74 Question Id : 92090626294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103893. 1
920906103894. 2
920906103895. 3
920906103896. 4

Question Number : 75 Question Id : 92090626295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All of the following are example of nominal scale Except :

(1)  Sex (2) Body weight
(3) Race (4) Socio-economic status
Options :

920906103897. 1
920906103898. 2
920906103899. 3
920906103900. 4

Question Number : 75 Question Id : 92090626295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofaiaa 7 A 9 v F SsH G4 AHAIES A9 & I &

(1)  fem 2) RIS 4R
3) difd (4) THTSE-3niie fRufa
Options :

920906103897. 1
920906103898. 2
920906103899. 3
920906103900. 4

Question Number : 76 Question Id : 92090626296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : IMNCI includes early neonatal care and home based care.

Statement Il : Pink color code represent urgent referral in IMNCI.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true
Options :

920906103901. 1
920906103902. 2
920906103903. 3
920906103904. 4

Question Number : 76 Question Id : 92090626296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RAFERUME:
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I $YA & 3dld H, - fau 70 fawed # 9 9l 3R &1 994 Sifr

(1) &Y IR IS TT 8

(2)  ®YAI 3R I EH 3T §
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Options :

920906103901. 1
920906103902. 2
920906103903. 3
920906103904. 4

Question Number : 77 Question Id : 92090626297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (vector) List Il (Disease)
(A) Anopheles mosquito (I) Dengue
(B) Culex mosquito ()  Scrub typhus
(C) Aedes mosquito () Malaria
(D) Mite (IV) Japanese encephalitis

Choose the correct answer from the options given below:

(1 (A=), (B)-(IV), (C)-(1), (D)-(111)
(2) (A=, (B)-(IV), (O-(1). (D)-(I)
(3)  (A)-(IV), (B)-(I), (C)-(1), (D)-(11)
(4) (A=, (B)-(1), (C)-(IV), (D)-(I1)
Options :

920906103905. 1
920906103906. 2
920906103907. 3
920906103908. 4



Question Number : 77 Question Id : 92090626297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i | & G Gl 11 BT e ey

-1 -
UEGIGEED I
@) TS TR n 3
(B) I H=H (1) %&b CI3hY
€ VS A= amy  HehEr
(D) &SI (V) SITOHE Ehgied
Hra feu T faweai § O Hel 3T &1 994 B
(1) (A)-(1), (B)-(V), (C)-(), (D)-(1ll)
2 (A0, (B)-(IV), (C)-(1), (D)-(11)
(3)  (A)-(V), (B)-(IlI), (C)-(1), (D)-(I1)
(4)  (A)-(), (B)-(I), (C)-(IV), (D)-(Il)
Options :

920906103905. 1
920906103906. 2
920906103907. 3
920906103908. 4

Question Number : 78 Question Id : 92090626298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Deficiency) List Il (Disease)
(A) Retinol () Beri-beri
(B) Thiamine (I} Xerophthalmia
(C) Iron ()  Scurvy
(D) Ascorbic acid (IV) Anemia

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(I1), (C)-(1IV), (D)-(1)

(2) (A)-(1), (B)-(l1), (C)-(1n), (D)-(1V)

(3) (A)-(1), (B)-(1), (C)-(1V), (D)-(lIT)

(4) (A)-(11), (B)-(1), (C)-(IH1), (D)-(IV)
Options :

9209061039009. 1
920906103910. 2
920906103911. 3
920906103912. 4

Question Number : 78 Question Id : 92090626298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | 3 Ay G 1 @ e s

l-1 HH (ST -1l ()
(a) feHrd 1 S-ad

@) TenfiE () SR dfcTr
(C) T (3MERA) (ny  df

(D) UEhIfdd v (V) JadIeddl (QHiTeE)

i feu v fadedl 5 O get 3 &1 994 DI

(1 (A)-(11), (B)-(1, (C)-(IV), (D)-(1)
(2 (A)-(1), (B)-(II), (C)-(1), (D)-(IV)
( (
( (

L—

3
4)

L

A)-(I1), (B)-(1). (C)-(IV), (D)-(llry
A)-(11), (B)-(1), (©)-(1), (D)-(IV)

Options :
9209061039009. 1



920906103910. 2
920906103911. 3
920906103912. 4

Question Number : 79 Question Id : 92090626299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which pneumoconiosis is caused by exposure to cotton dust?

(1) Byssinosis (2) Bagassosis
(3) Siderosis (4) Farmer's lung
Options :

920906103913. 1
920906103914. 2
920906103915. 3
920906103916. 4

Question Number : 79 Question Id : 92090626299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafed ¥ 9 oF 9 $upd yfeHgd S B ¢fd o UHTidd & SR Sl 67

(1) <R (2) S
(3) dreHgd 4) T&aH &1 BHST
Options :

920906103913. 1
920906103914. 2
920906103915. 3
920906103916. 4

Question Number : 80 Question Id : 92090626300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Institute) List Il (Location)
(A) Central Drug Research Institute (CDRI) ()  Chennai
(B) National AIDS control Organisation (NACO) (1) Lucknow
(C) Tuberculosis Research Institute (TRC) (i) Bengaluru
(D) National Institute of Mental Health and (IV) New Delhi

Neurosciences (NIMHABS)

Choose the correct answer from the options given below:

(1 (A)-(), (B)-(V), (C)-(1), (D)-(11D)
(2)  (A)-(1v), (B)-(11), (C)-(1), (D)-(1)
(3)  (A)-(), (B)-(V), (C)-(I), (D)-(1)
(4)  (A)-(1), (B)-(1), (O)-(1V), (D)-(11)

Options :

920906103917. 1
920906103918. 2
920906103919. 3
920906103920. 4

Question Number : 80 Question Id : 92090626300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | 3 Ay g 11 @ e S
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(A) BT NG SIYF FRIF (COR) () o3
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4 U v fawmedl | 9 91 ST &1 994 S

(1) (A)-(11), (B)-(1V), (C)-(1), (D)-(I1)

(2) (A)-(IV), (B)-(I1), (C)-(1), (D)-(11)

(3) (A)-(11), (B)-(IV), (C)-(l1), (D)-(1)

(4) (A)-(1), (B)-(1), (C)-(IV), (D)-(1)
Options :

920906103917. 1
920906103918. 2
920906103919. 3
920906103920. 4

Question Number : 81 Question Id : 92090626301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (Causative organism) List Il (Disease)
(A) Coxiella Burnetti ()  Endemic typhus
(B) Yersinia pestis (1) Q fever
(C) Rickettsia tsutsuganushi (Ilfy  Scrub typhus
(D) Rickettsia typhi (IV) Plague

Choose the correct answer from the options given below:

(1) (A, (B)-(V), (O)-(1). (D)-(1)
(@ (A)-(IV), (B)-(llT), (C)-(1). (D)-(IN)
(3) (A=, (B)-(IV), (C)-(1), (D)-(1)
(@) (A=), (B)-(IV), (C)-(1), (D)-(1)



Options :

920906103921. 1
920906103922. 2
920906103923. 3
920906103924. 4

Question Number : 81 Question Id : 92090626301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i | b T Gl 11 BT e iy

-1 (TGS Sild) Tt @)
(A) HEHTA gl ) AP eEHY
(B) ol uRed Iy TYIER
© RecmmgaEmElt oy ®hd TREH
D) FbeRm erswl (v) @
il fau U faedi § € gl 3T &1 994 ST
(1) (A)-(), (B)-(IV), (C)-(11), (D)-(1)
(2)  (A)-(V), (B)-(), (C)-(1), (D)-(IN)
(3) (A, (B)-(1V), (Q)-(1), (D)-(111)
) (A-(, B)-(V), (OQ)-(IIN), (D)-(1)

Options :

920906103921. 1
920906103922. 2
920906103923. 3
920906103924. 4

Question Number : 82 Question Id : 92090626302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Consumption of Khesari Dal can cause lathyrism

Reasons (R) : Betaoxalyl amino alanine is a nerve toxin present in Khesari dal seeds.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1

) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
)

(3
(4) (A) is not correct but (R) is correct

(A) is correct but (R) is not correct

Options :

920906103925. 1
920906103926. 2
920906103927. 3
920906103928. 4

Question Number : 82 Question Id : 92090626302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

92 @ &Y 3T U § UF YFY (Assertion A) & ®U  H fafdd g @ g1 I9&
IR0 (Reason R]a?Fq fl}

AFYT A - TR &Td & IJUHNT & SR FaraE (adiReH) 8 9&dl g

PRUIR - @H@Eﬂ%&%ﬁﬁﬁaaﬁmﬁamqﬂqwﬁﬂamm
GGl

I DY & Al H, Ad ST U f[dhed] J 9 Tel I &1 994 Dol

(1)  ASIRREHI Hal g 3R R, A DI Hel ARAT §

) AARREH G €, b R A D T ARAT G &
) AWEE APTRUGI T8

(4 AW TIE ABTRIL R

Options :

920906103925. 1
920906103926. 2
920906103927. 3



920906103928. 4

Question Number : 83 Question Id : 92090626303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (Theory) List 1l (Given By)
(A) Web of Causation (I) Patten Koffer
(B) Germ theory of disease (1)  Macmohan Pugh
(C) Multi-factorial causation of Disease () Louis Pasteur
(D) Spontaneous generation theory (IV) Aristotle

Choose the correct answer from the options given below:

(M (A1), (B)-(I), (C)-(1), (D)-(IV)
@) (A1), (B)-(1), (O, (D)-(IV)
(3) (A0, (B)-(1, (C)-(1), (D)-(IV)
4)  (A)-(V), (B)-(11), (C)-(1), (D)-(1lT)

Options :

920906103929. 1
920906103930. 2
920906103931. 3
920906103932. 4

Question Number : 83 Question Id : 92090626303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & | Gl 1| BT fe Sifeg
-1 (Rrgid) eIl (GRT Ued)

(A) HRUE BT HaTd N YeIBIER
B) 1AM Rgid iy AHHE 3R G
© I P §§ HHOE () Ted URER

EALRG

(D) Ed: & Rgid (Iv) SRE]
Hid f4u U fdwedi ¥ Hel I D1 999 BT
(m (A)-(11), (B)-(l), (C)-(1), (D)-(IV)
(2) (A)-(11), (B)-(), (C)-(1n), (D)-(IV)
(3) (A)-(l), (B)-(11), (©)-(1), (D)-(IV)
(4) (A)-(IV), (B)-(1), (C)-(1), (D)-(II)

Options :

920906103929. 1
920906103930. 2
920906103931. 3
920906103932. 4

Question Number : 84 Question Id : 92090626304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bidirectional screening has been recommended for —

A, HIV
B TB

& Diabetes Mellitus
D. Cancer

E Hypertension

Choose the correct answer from the options given below :

(1) A and B only
(2) AandD only
(3 B and C only
(4) CandEonly

Options :



920906103933. 1
920906103934. 2
920906103935. 3
920906103936. 4

Question Number : 84 Question Id : 92090626304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafe=ita St Fofafad 7 4 fead e sFRifd &:
A TS Gl

B. &M

C. HYHg

D. D I (W)

E. 3" Iggdam
e f3u e fasedi § ¥ Wl I &1 9uH Hifo -

(1) FHadA3IRB

(2) Pad AR D

3) HAAB3RC

(4) PAAC IARE
Options :

920906103933. 1
920906103934. 2
920906103935. 3
920906103936. 4

Question Number : 85 Question Id : 92090626305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Adverse events following immunization caused by-

A Age of vaccine recipient

B Immunization error related reaction
C Vaccine product related reaction

D. Coincidental events
E

Immunization anxiety related reaction

Choose the correct answer from the options given below :

(1 B, C, D and E only
(2) A, B and C only
(3) B and C only

(4) B, CandEonly

Options :

920906103937. 1
920906103938. 2
920906103939. 3
920906103940. 4

Question Number : 85 Question Id : 92090626305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HfcRefieu1 3 srguTer A 819 arelt uftigra g Frafaf@d & gri e &

A, d&RIH UTEd B S

B. WfaRaisur Ffe deieh srfdfehan
C. dRi Iaure Hddh affear
D. Hulfid® gemd

E. WicRalieor gigha deel sifvifchan
Hra fau e fadel & 4 UEt IR &1 909 Hifoi ;
(1) &adaB,C D3RE

2) FAAA, B, 3R C
3) HaABARC
4) PHAAB, C IARE

Options :



920906103937. 1
920906103938. 2
920906103939. 3
920906103940. 4

Question Number : 86 Question Id : 92090626306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following has been recommended for prevention of NCDs?

A 150 min of moderate to high intensity exercise per week.
B Keeping BMI less than 22.9 kg/m?

2 Shifting to e- cigarettes from tobacco based cigarettes
D. More than 20 g / day of dietary fibre consumption
E.

Vegetarian diet

Choose the correct answer from the options given below :

(1) B, C, E only

(2) B and E only

(3) A, B and D only

4) A, B and E only
Options :

920906103941. 1
920906103942. 2
920906103943. 3
920906103944. 4

Question Number : 86 Question Id : 92090626306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



tA 4t 3t fFaru g Mufafed & 3 feaat sz o1 715 82
A ufd IedE ¥ad 9 3= digdl 9rd 1508 &1 sarar|

B. 229 fun/ ik ¥ &u ot uh o &
C. arEIP Auid RRe 9 3-RRe & 3R ufawime
D. 2079y & ¥ 3t Sryedl BIgar &1 IUHAT
E SRR SMER
1 fou e fdsedi & 9 el IR &1 994 Sifoe :
(1) ddB,CE
(2) ®HadB3RE
(3) FadA BHRD
(4) HadA BS3RE
Options :

920906103941. 1
920906103942. 2
920906103943. 3
920906103944. 4

Question Number : 87 Question Id : 92090626307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Carriers are more important source of infection than cases in
meningococcal meningitis.

Statement Il : Chemoprophylaxis of close contacts of cases is not recommended.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :



920906103945. 1
920906103946. 2
920906103947. 3
920906103948. 4

Question Number : 87 Question Id : 92090626307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 3 YA UL E:
FYA| : ﬁa?%ﬁwﬁﬁﬁﬁﬁﬂﬁm,nmﬁﬁwﬁwawmwm
YT - m%ﬁmmﬁmwmﬂﬁﬁmﬁm;aﬁmaﬁ

IR HYF & 3l H A ST U fdded] # 9 Tel I $1 99+ Hiferg

(1) YIRS II®

@ Y1 SIR I IE T &

(3) YA FA g, Alchd HYF 1l 3 B
(4)  HYT| U g, A HYT 1 T ¢

Options :

920906103945. 1
920906103946. 2
920906103947. 3
920906103948. 4

Question Number : 88 Question Id : 92090626308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not a part of communication process?

(1)  Sender (2) Authority
(3) Feedback (4) Receivers
Options :

920906103949. 1
920906103950. 2
920906103951. 3



920906103952. 4

Question Number : 88 Question Id : 92090626308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Ui &1 4 Fgfafad § 3 19 91 78 82

(1) USd 2) UMgPpR
3) wfag® (4) Ul
Options :

920906103949. 1
920906103950. 2
920906103951. 3
920906103952. 4

Question Number : 89 Question Id : 92090626309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Histogram is used as method of group presentation for :

(1) Qualitative data (2) Quantitative Continuous data
(3) Quantitative Discrete data (4) MNominal data
Options :

920906103953. 1
920906103954. 2
920906103955. 3
920906103956. 4

Question Number : 89 Question Id : 92090626309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jraa = &1 wa Fofefad d 3 foad angfed uxgeol &t faftl & wu 7 o rar 82

(1) T[UTHS STeT (2) HAHEHS Had SIel
(3) HEHS HTdd ST (4) A& S1eT
Options :

920906103953. 1



920906103954. 2
920906103955. 3
920906103956. 4

Question Number : 90 Question Id : 92090626310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Framingham Heart study is an example of case- control study

Statement Il : Strength of association in a cohort study is evaluated by Relative Risk.

In the light of the above statements, choose the correct answer from the options
given below :

()] Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

4) Statement | is false but Statement |l is true

Options :

920906103957. 1
920906103958. 2
920906103959. 3
920906103960. 4

Question Number : 90 Question Id : 92090626310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MR Hy R e:

&Y | ThiHYH B¢ w3 HIHdl YA 3ege U6 360 §

&Y || - TSIV {eAgA H gigad o Widy rdeft Sifen & g1 gedifbd &t 9l §
I BYA & il H, 912 fau 70 fawel 7 9 g8t IR &1 90 Fifeu

1) BY R AT IR

2 @Y1 SR I GH 3 8

(3)  BYT | HA g, Aich HYA 11 3T §
(4) ©YF| A g, Al Y 1| T &

Options :

920906103957. 1
920906103958. 2
920906103959. 3
920906103960. 4

Question Number : 91 Question Id : 92090626311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Post-Coital contraceptive include—

A, Ethinyl estradiol 0.75 mg
B Iub

G Levonorgestrel 0.75 mg
D. DMPA

E. Mife pristone 10 mg

Choose the correct answer from the options given below :

(1) A and E only
(2) B, D and E only
(3) A, Cand E only
(4) B, C and E only
Options :
920906103961. 1
920906103962. 2

920906103963. 3
920906103964. 4



Question Number : 91 Question Id : 92090626311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IWR- Ay miFRIys o e &
A UUAd gRisad 0.75 i
B. 3% gl (UD)
c. faamcRed 0.75 fim
D. Slumgdlu(DMPA)
E. WIS e 10 fion
< feu U ol 7 I Wel IR &1 90 S :

(1) PHAAASANRE

2) $adB D3RE

3) HaAA C3HRE

(4) PAAB, CHRE
Options :

920906103961. 1
920906103962. 2
920906103963. 3
920906103964. 4

Question Number : 92 Question Id : 92090626312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Biomedical waste of Urine bags and Catheters are collected in Red
bag.
Statement Il  : Incineration is done for human anatomical waste.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement |l are false

(3) Statement | is true but Statement |l is false

(4 Statement | is false but Statement Il is true
Options :

920906103965. 1
920906103966. 2
920906103967. 3
920906103968. 4

Question Number : 92 Question Id : 92090626312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS sy feu U E:
YA | :ggﬁ%ﬁﬁﬁwwﬁ%éﬂﬁmmmmaﬁnﬁwﬁam

YA |- A IR TATHS 3102y & forg wadiewo feear @an g
JIWad HYA & 3l H A ST U f[dped] d § 9el I &1 994 Siferg

(1) ®YTIRIGHIgd g

2) @Y IRISHE A E®

(3) @Y Id g, Al By |l 3 §
(4) BYTIAEIE, AP BN TIE

Options :

920906103965. 1
920906103966. 2
920906103967. 3
920906103968. 4



Question Number : 93 Question Id : 92090626313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Orthotolidine test is used for detecting.

(1)  Ammonia (2) Chlorine
(3) DDT (4) Nitrate
Options :

920906103969. 1
920906103970. 2
920906103971. 3
920906103972. 4

Question Number : 93 Question Id : 92090626313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 7 ¥ fgew udr @ H & forg smuferarsie ufvearr &1 wan faar siran 82

(1) 3 (2) TR
3 Sigtd (4) gee
Options :

920906103969. 1
920906103970. 2
920906103971. 3
920906103972. 4

Question Number : 94 Question Id : 92090626314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chance of disease development is same among exposed as compared to non-exposed
when—

(1 Relative Risk >1 (2) Relative Risk =2
(3) Relative Risk =1 (4) Relative Risk <1
Options :

920906103973. 1



920906103974. 2
920906103975. 3
920906103976. 4

Question Number : 94 Question Id : 92090626314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U&He U UdHe P ga- H A7 & [dbT &1 GrTa1 §9E gidl 8, oa-

(1) T8 ShfEH >1 (2) HUe SiREH >2
(3) U WifEgA=1 (4) WY& FIRgA<1
Options :

920906103973. 1
920906103974. 2
920906103975. 3
920906103976. 4

Question Number : 95 Question Id : 92090626315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kaplan — Meier method is used for—

(1) Contraception (2) Dietary advice
(3) Survival analysis (4) Bias estimation
Options :

920906103977. 1
920906103978. 2
920906103979. 3
920906103980. 4

Question Number : 95 Question Id : 92090626315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIga- AR fafd &1 v fead fom i sran g 2

M TRy (2) SR Hatd gare
(3)  IxiReid! fageyor (4) U&UTd g9
Options :

920906103977. 1
920906103978. 2
920906103979. 3
920906103980. 4

Question Number : 96 Question Id : 92090626316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘STEPS' is recommended by Who for—

(1) Surveillance of risk factor for communicable diseases.
(2) Surveillance of risk factors for non - communicable diseases.
(3)  Surveillance of mortality factor of communicable diseases.
&Y Surveillance of risk factor for maternal mortality.

Options :

920906103981. 1
920906103982. 2
920906103983. 3
920906103984. 4

Question Number : 96 Question Id : 92090626316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHO gRI fdseds foTe ‘STEPS' 1 ST &1 Wl 87

) fcr sife e e PR Sigfirad e
(2) widai 3 s Bhaed BR T Sigfded fSoies
(3) widaiy 3 e AT thaer Sifs ShgfAdad fEuiors
4)  Gfdard 3HTe Fw thaex BR Aed Alciae!
Options :

920906103981. 1
920906103982. 2



920906103983. 3
920906103984. 4

Question Number : 97 Question Id : 92090626317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Minimum depth for the lining of sanitary well is—

(1) 10 ft. 2) 20
(3) 35 ft. (4) 50 ft.
Options :

920906103985. 1
920906103986. 2
920906103987. 3
920906103988. 4

Question Number : 97 Question Id : 92090626317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W3l B B YA I8 BT FAdH TTevs ¢ -

(1) 10wl (2) 20Wie
(3) 35WiE (4) 50 WIE
Options :

920906103985. 1
920906103986. 2
920906103987. 3
920906103988. 4

Question Number : 98 Question Id : 92090626318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per International Health Regulation, Aedes Aegypti index is kept below which level
around airports?

M 1% 2) 5%
3) 8% (4) 10%

Options :



920906103989. 1
920906103990. 2
920906103991. 3
920906103992. 4

Question Number : 98 Question Id : 92090626318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy ey fafgH & 3uR, TS Ufp! Yaeis Bl fanr ol & Sraury fy R
Y I @1 Sl 87

(M 1% (2) 5%
(3) 8% 4 10%

Options :

920906103989.
920906103990.
920906103991.
920906103992.

AW NN~

Question Number : 99 Question Id : 92090626319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All are method of bacteriological surveillance of water except-

(1) Multiple tube method (2) Methylene blue Reduction tent
(3) Colony count (4) Membrane filtration technigue
Options :

920906103993. 1
920906103994. 2
920906103995. 3
920906103996. 4

Question Number : 99 Question Id : 92090626319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o &1 Siamua® AR Sl faftan faa 0@ & s 82

(1) ogd s fafd

) A s ReawH gdiam

(3) HIAHIHEE

4) A [heewE deb-le
Options :

920906103993. 1
920906103994. 2
920906103995. 3
920906103996. 4

Question Number : 100 Question Id : 92090626320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maijor criteria for a screening test in a community setting depends upon high—

(1)  Sensitivity (2) Specificity
(3) Predictive value (4) Reliability
Options :

920906103997. 1
920906103998. 2
920906103999. 3
920906104000. 4

Question Number : 100 Question Id : 92090626320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)  Hdguiidd

2)  fafRrwar

(3) qaigHa AE

4)  Tayg-gan
Options :

920906103997. 1
920906103998. 2



920906103999. 3
920906104000. 4



